
 
Cód. Material  Descrição Material  Unidade   Estoque 

6012141  REBOLO A RT 152,4X25,4X31,75MM GC 60 K  BARRA ILHOTA  1 

6006478  FITILHO PEAD COLORIDO  BARRA ILHOTA  227,7 

6009615  PARAFUSO GALV CACAMBA 5/16X1.1/2  BARRA ILHOTA  129 

6008727  PARAFUSO AT CH FEN A1020 5,0X25MM  BARRA ILHOTA  357 

6008720  PARAFUSO AT CH FEN A1020 5,0X30MM  BARRA ILHOTA  326 

6008755  ZZPARAFUSO ALL 5/16X3/4 C/PORCA  BARRA ILHOTA  73 

6009459  PARAFUSO CIL FEN CL8.8 5X16MM  BARRA ILHOTA  90 

6009304  PARAFUSO FEN ACP1020 5/32X1.1/2 UNC32F  BARRA ILHOTA  127 

6008725  PARAFUSO AT CH FEN A1020 5,0X12MM  BARRA ILHOTA  17 

6008726  PARAFUSO AT CH FEN A1020 5,0X16MM  BARRA ILHOTA  6 

6013750  SABONETE LIQ BACT SOBREENGORD [EMB 5L]  BARRA ILHOTA  18 

6013993  SOLVENTE REMOVEDOR QUIMICO BUFPAL 820  BARRA ILHOTA  2 

6005990  ESCOVA ACO ROT 8X1.3/4  ‐ 35OO RPM  BARRA ILHOTA  2 

6006003  ESCOVA COPO 4" 14MM P2"  BARRA ILHOTA  1 

6006004  ESCOVA LATAO C/ CABO  BARRA ILHOTA  5 

6006791  GRAFITE TECNICO FINO 0,5X60MM GR B 12UN  BARRA ILHOTA  3 

6005046  COPO DESCART PLAST 180ML BRANCO  BARRA ILHOTA  3800 

6002336  ZZBARRA ROSC A307GRB 7/8X1000MM UNC  BARRA ILHOTA  4 

6002331  ZZBARRA ROSC A307GRB 3/4X1000MM UNC  BARRA ILHOTA  3 

6002332  ZZBARRA ROSC A307GRB 3/8X1000MM UNC  BARRA ILHOTA  5 

4003496  CAMISA EMBOLO PARKER 16104013  BARRA ILHOTA  2 

6007144  LUVA HIDR/PNEU SX LTCA360 NPTF 1/4"  BARRA ILHOTA  107 

6005225  COTOVELO MC90 NPTF 1/4" LT 1/4"  BARRA ILHOTA  3 

4006551  CORRENTE P3/4" C/2 EMENDAS  BARRA ILHOTA  2,95 

6000070  ABRACADEIRA RSF A1020 14MM 32~44MM  BARRA ILHOTA  19 

6001628  AVENTAL DESCART MANGA M/L VELCRO  BARRA ILHOTA  3 

6007677  LUVA SEG RASPA COST ALG 07CM S/REFORCO  BARRA ILHOTA  14 

6008177  MASCARA RESPIRATORIA 88 CATAL MSA  BARRA ILHOTA  2 

6004612  ZZ CINTO SEG PARAQUEDISTA NYL S/REG(CANC  BARRA ILHOTA  2 

6011911  ZZPROTETOR AUDITIVO SEG PLUG C/CORDAOZZ  BARRA ILHOTA  21 

6007643  ZZLUVA SEG HEXANOL S/FORRO LISA 45CMZZ  BARRA ILHOTA  4 

6007541  LUVA COURO CANO LONGO REFORCADA  BARRA ILHOTA  4 

6007349  ZZLENTE INC LISA MASCARA SOLD 50X108X3MM  BARRA ILHOTA  93 

6008172  MASCARA DESCART CARBOGRAFIT EP 101  BARRA ILHOTA  39 

6008530  OCULOS SEG PROT INC  BARRA ILHOTA  1 

6015539  ZZVARETA SOLDA 2,40MM SILTEC 1801XFC  BARRA ILHOTA  0,5 

6015543  ZZVARETA SOLDA 2,50MM TIPO ESSEN12S  BARRA ILHOTA  0,391 

6005724  ZZELETRODO SOLDA 2,50MM UTP68MO E31616ZZ  BARRA ILHOTA  10 

7300187  FILME PE STRETCH 500MM 0,025MCRMAN  BARRA ILHOTA  75 

7300189  ZZFILME PE TRANSP 1150MMX55MCR  BARRA ILHOTA  63,64 

6004178  CARTUCHO TONER PR MLS C7115A REMAN  BARRA ILHOTA  3 

4003282  CAIXA CIL PK ZM 1G KLOCKNER MOELLER  BARRA ILHOTA  9 

4007422  DISJUNTOR MPW25 3P 690V 0,16~0,25A  BARRA ILHOTA  3 

4004374  CHAVE LIGA/DESL SS 6015 3X30A  BARRA ILHOTA  7 



 
4007438  DISJUNTOR MPW25 3P 690V 2,5~4A  BARRA ILHOTA  1 

4007343  DISJUNTOR PKZMC 3P 440V 2,5~4A  BARRA ILHOTA  1 

4008553  ESCOVA CARV WAPSA 213021  BARRA ILHOTA  7 

4019508  ZZSOQUETE ROSCA E27 POR 4A 250V  BARRA ILHOTA  16 

4021071  TOMADA SOB 3PR  BARRA ILHOTA  6 

4007402  DISJUNTOR TRIF 60A ELETROMAR  BARRA ILHOTA  1 

4003683  CAPACITOR MOTOR MONOF 270  BARRA ILHOTA  2 

4014442  PINO TOMADA TRIF 30A 250V L&C 1753  BARRA ILHOTA  4 

4019518  SOQUETE ROSCA E27 TPLAS 2A 250V  BARRA ILHOTA  8 

4019505  SOQUETE ROSCA E27 POR 4A 250V  BARRA ILHOTA  5 

4003689  CAPACITOR POLIESTER MET 0,1MF 250V  BARRA ILHOTA  18 

4014401  PINO ELETR 7MM VM MAGNET 6910  BARRA ILHOTA  42 

4020736  TERMINAL FIO PLUG 9121080037  BARRA ILHOTA  19 

8020148  EXTENSAO FLEX 300MM BOZZA 5652  BARRA ILHOTA  5 

8006981  BICO BBA MAN SCHWEERS 182  BARRA ILHOTA  5 

6002563  ZZBICO CORTE VICTOR MOD 1‐GPN  BARRA ILHOTA  4 

6002564  ZZBICO CORTE VICTOR MOD 2‐GPN  BARRA ILHOTA  4 

6002556  BICO CORTE 1503 N6 CU 19,1~29,4MM  BARRA ILHOTA  1 

6002562  ZZBICO CORTE VICTOR MOD 0‐GPN  BARRA ILHOTA  1 

6011791  ZZPORTA ELETRODO CU FEN 500A  BARRA ILHOTA  1 

3500412  ESPALHANTE ADES GOTAFIX 125G/L SC 1L  BARRA ILHOTA  0,5 

4006429  CORREIA TRANSP PR 3L N24" 1/8X1/16" MAMI  BARRA ILHOTA  60 

4023107  VENTILADOR 400V  BARRA ILHOTA  5 

4001519  BITS QD HSS 10%CO 5/16X4"  BARRA ILHOTA  2 

4013833  PASTILHA WIDIA SMS E20  BARRA ILHOTA  1 

8020785  FILTRO HIDR HYSTER 1337159  BARRA ILHOTA  3 

8020549  FILTRO AR FLEETGUARD AF25070Q  BARRA ILHOTA  3 

8021034  FILTRO LUB HYSTER 1328692  BARRA ILHOTA  4 

8018144  ELEMENTO FILTR AR WAYNE CA1856  BARRA ILHOTA  12 

8020954  ZZ FILTRO OLEO LUBRIF W719/30 (CANC)  BARRA ILHOTA  2 

8018064  FILTRO AR PRIM PARKER AFI6251KLL  BARRA ILHOTA  1 

8021033  ZZ FILTRO TRANS MICH 325 (CANC)  BARRA ILHOTA  1 

8020812  FILTRO HIDR MICH PI 631  BARRA ILHOTA  1 

8018275  ELEMENTO FILTR OL HIDR PARKER P14225M  BARRA ILHOTA  2 

8020851  ZZ FILTRO MOTOR EMPILHAD 0324692 (CANC)  BARRA ILHOTA  3 

8018014  ELEMENTO FILTR MICHIGAN P119410  BARRA ILHOTA  1 

8017954  ZZELEMENTO FILTR VW 31693  BARRA ILHOTA  2 

8018233  ELEMENTO FILTR LUB MANN P824  BARRA ILHOTA  3 

8020676  ZZ FILTRO COMB MANN P945X (CANC)  BARRA ILHOTA  2 

6003305  CABO 4X26 AWG  BARRA ILHOTA  50 

4010021  ZZGAXETA QUAD 1/4" QUIMGAX 2009(4029491)  BARRA ILHOTA  4 

4010036  ZZGAXETA QUA 5/16"QUIMGAX 2009 (4029492)  BARRA ILHOTA  4 

4010016  ZZGAXETA QUADR 1/2" TEADIT 2009(4029478)  BARRA ILHOTA  4 

4011340  LAMPADA HALOG COL MICRONAL B280 15260066  BARRA ILHOTA  6 

4011288  ZZLAMPADA INC 8W 220V BA15D CRI  BARRA ILHOTA  51 



 
4015521  REATOR VAP SODIO AP  BARRA ILHOTA  1 

4011279  LAMPADA INC 3W 12V BA9S CRI  BARRA ILHOTA  13 

4011359  LAMPADA INCAND TUB 2W 130V CR  BARRA ILHOTA  15 

4015495  REATOR PART RAP 40W  BARRA ILHOTA  2 

4011286  LAMPADA 220V 5W SADOKIN TU16  BARRA ILHOTA  12 

4011366  ZZLAMPADA INCAND 100W 220V E‐27 CRI  BARRA ILHOTA  21 

4011367  ZZLAMPADA INCANDESCENTE 150W 220V E‐27  BARRA ILHOTA  9 

4019530  START LAMP FLUOR 40W  BARRA ILHOTA  7 

4011355  LAMPADA INCAND 12V 250MA E14  BARRA ILHOTA  28 

4011313  LAMPADA FLUOR GERMICIDA T8 30W G13  BARRA ILHOTA  3 

4003424  ZZSUPORTE EIXO TOYOTA 3720198003  BARRA ILHOTA  2 

4003423  ZZSUPORTE EIXO TOYOTA 3720198003  BARRA ILHOTA  2 

4012204  ZZMANCAL BIPART FFN ROLAM SNAD509TCZZ  BARRA ILHOTA  1 

4010322  GUARNICAO 2" PARKER 301018000  BARRA ILHOTA  4 

4015392  QUIMFLEX TEFLON ASBERIT 5X2MM  BARRA ILHOTA  25 

8025459  LAMPADA KE040 4V 750MA KONDO BA15D  BARRA ILHOTA  9 

8025458  LAMPADA KE020 4V 750MA KONDO BA15D  BARRA ILHOTA  8 

8025457  LAMPADA KE010 4V 750MA KONDO BA15D  BARRA ILHOTA  10 

8025455  LAMPADA INCAND NEON 120V E6 BA9S  BARRA ILHOTA  24 

8025759  ZZLENTE ESCURA MASC SOLDA N.12  BARRA ILHOTA  14 

8021574  FUSIVEL TIPO FACA 5A AM  BARRA ILHOTA  2 

6005627  ZZELETRODO COMB PH A405 DPA SCS8120  BARRA ILHOTA  1 

6007268  LAMPADA INC 0,12W 6V K12 CRI  BARRA ILHOTA  11 

8002877  ANEL MF 1883620M1  BARRA ILHOTA  70 

8031817  PASTA MOLIK BR2 100G  BARRA ILHOTA  2 

6004137  CARTUCHO TINTA PT 42ML MLS 51645A REM  BARRA ILHOTA  2 

6008696  PAPEL TERMICO FAX 216MMX30M ALT DEFINIC  BARRA ILHOTA  13 

6004106  CARTUCHO JATO TINTA PT 40ML HP 51629A  BARRA ILHOTA  1 

6003893  CAPA CONTRA CAPA 350MM X 230MM  BARRA ILHOTA  38 

4013443  ZZ PAPELAO HID GRAF 1/8X1500X1600MM U60  BARRA ILHOTA  4 

4013469  ZZ PAPELAO HIDR VM 2,4MM NA1040 (CANC)  BARRA ILHOTA  24 

6012093  REBITE MAC RED CU/LIGA110 4,8MM 19MM  BARRA ILHOTA  2816 

6012072  REBITE RAB ABA AL/ASTM1350 3,2MM 10MM  BARRA ILHOTA  303 

6013882  SILICA GEL BRANCA SACHE 500GR  BARRA ILHOTA  150 

6007159  KIT GUARNICAO CIL PARKER 1.1/2" 34008000  BARRA ILHOTA  6 

4010361  GUARNICAO PARKER 34008007  BARRA ILHOTA  3 

6007162  KIT GUARNICAO CIL PARKER 3.1/4X1.1/4  BARRA ILHOTA  4 

4010324  GUARNICAO 5100‐8001 VALV 53004 OS  BARRA ILHOTA  10 

6007160  KIT GUARNICAO CIL PARKER 2" 34008001  BARRA ILHOTA  4 

6013187  RETENTOR FPM 54X35X8MM  BARRA ILHOTA  4 

6013137  RETENTOR NBR 44,4X30X9,5MM  BARRA ILHOTA  12 

6012935  RETENTOR NBR 25,4X12,7X6,3MM  BARRA ILHOTA  1 

4017403  ZZROLAMENTO RIG ESF YAR2112F  BARRA ILHOTA  5 

4016616  ROLAMENTO RIG ESF 6200Z  BARRA ILHOTA  4 

6013811  ZZSAPATO FEM COLEG PR SOLADO PU N.35  BARRA ILHOTA  11 



 
6003748  CAMISA ADM UNI CT ALG AZ M  BARRA ILHOTA  32 

6013812  ZZSAPATO FEM COLEG PR SOLADO PU N.36  BARRA ILHOTA  8 

6013810  ZZSAPATO FEM COLEG PR SOLADO PU N.34  BARRA ILHOTA  6 

6003750  CAMISA ADM UNI CT ALG AZ P  BARRA ILHOTA  22 

6013813  ZZSAPATO FEM COLEG PR SOLADO PU N.37  BARRA ILHOTA  5 

6003572  CALCA JEANS MAS JEANS AZ 46  BARRA ILHOTA  11 

6003563  ZZCALCA MASC SEMI BAG JEANS AZ N40 COSAN  BARRA ILHOTA  10 

6003560  ZZCALCA MASC SEMIBAG JEANS AZ N.38 COSAN  BARRA ILHOTA  9 

6003744  CAMISA ADM UNI CT ALG AZ G  BARRA ILHOTA  8 

6003566  CALCA JEANS MAS JEANS AZ 42  BARRA ILHOTA  2 

4016167  REPARO VALV PNEUM 092648  BARRA ILHOTA  1 

 

 


